B Iort GRT gFieR
' ¢o%d JI5 Tos fAEAr ATl 0 GBIF 059

TRFI; IO

Ao

5. SO R4TT 4+3i -7 o
(A) 4, (B) %, (C) tan-! %, (D) tan-14/3

2. K-93 17 6 6T x2-6x-14K(2x+1)=0 sifiwacts 701 =26 5w 2@e

(A)1,(8)2,(C)3,(D) 4

0, "Cy -9 3T ST
(A) 'Cn, (B) ™Cy, (C) "Cosr, (D) "Crer

8. 1+3x+6x2+10x3+.... Rofofd cerafar
(A) (1-x)3, (B) (1-x)3, (C) (1+x)%, (D) (1+x)3

¢. 9P ERANAR T F62
(A) 1809, (B) 57°17'44.8", (C) 57927'44.8", (D) 2700

Y. Sec (270048) -47 q14 567
(A) - Cosec 6, (B) - Sec 8, (C) Sec 6, (D) Cosec 6

a. V3cos X +sin X = 1, §T ~21 < X < 211 A X-9F FiF TA?
(A) =n/6, (B) -3, (C) /3, (D) 11nf6

e, I |, m SRR e @Hika <@
(A) 124#m2=0, (B) 12— m?=0, (C) I2— m2=1, (D) [2+m2=1

». 3 x2Hy+2gx+2fy+c=0 T Tex T =rf F6 or:
(A) g%=c, (B) g?=f?=c, (C) f=c, (D) g?=F

vo. X2+4x+2y=0 el Tiefie 9w !
(A) y=3=0, (B) 2y-3=0, (C) y+3=0, (D) 2y+3=0,

». [3e5% dx -97 I FT?
(A) -5, (B) €5, (C) e, (D) —e-

5. Y=X2, X % @R =1 8 x=3 @4t i 9R% (F@d (AT 02
(A) 39, (B) 2613, (C) 20, (D) 3/26

>0, WiiRF 151 R4 ¥ R TPt 77|
(A) 10010111, (B) 11010011, (C) 11100011, (D) 10110110

8. fafd=s *mafSte 1000001/101 -G oI 62
(A) 1010, (B) 1101, (C) 1001, (D) 1100

s¢. 0! a3 aA 307 (A) 0, (B) 1, (C) -1, (D)

>, (4,-2) 7% QAT 5x+12y=3 @4 &9 W@y T07
(A) 7, (B) 13, (C) 7/13, (D) 1317

4. 2i a3 I =
(A) +(1+), (B) #i, (C) +(1-i), (D) cPICABR 77

Sbr. > (@ Vo T IR et T
(A) 7, (B) 8, (C) 10, (D) 11

"L‘T‘ﬂ[ﬁ: bro X 8=0%0

>». M y=e* cos X =¥, OF y4+4y=?

(A)1,(8)0,(C)-1, (D) 4

0. @ADL JAFREF 772
(A) wrreca, (B) Biffewm, (C) 31, (D) 3+frva

3. ) 8 50-9F Y IO TR I T a4 g [ewEye
(A)9, (B) 11,(C) 12, (D) 13

3. IS @0&(@?1. IR PG 52
(A) 5:4:3, (B) 6:5:4, (C) 12:8:4, (D) 13:12:6

0. 93 TTT cFaga v 1R ¢ R v /w1 93 I o2
(A)2,(B)4,(C)3, (D) 2%

8. (FIAD T R 7
(A) V400, (B) V100, (C) V900, (D) 200

3¢. y=4x2 SR (-1, 4) o =pisa AReaet e =
(A) y+8x+4=0, (B) 8y-x-33=0, (C) 3x-2y-5=0, (D) A BIZ 7

R, AAIed AT y?=4ax 3, Freiers s fidfa 391
(A) x-a=0, (B) x+a=0, (C) x=0, (D) y=0

4. afb YT @PITEE Y0¢ | @4¥E oftT 1T 0 9 oIy oftT 16 82 | B
=41 02 (A) 40, (B) 126, (C) 69, (D) 195

Rb*: ﬂf“ﬁ "C12 =nCg, W OR 2C, -93 IF F0°?
(A) 235, (B) 233, (C) 231, (D) 250

I, Y=3X AR, X oF qR @I x=2 fig 9T cvad cvawd a9
(A) 2, (B)6,(C)12, (D) 8

Vo. THESIS *03 TrFaeE! (I AfSrE 410 v @it s skt F6722
(A) 10, (B) 11, (C) 12, (D) 13

V). *F9 79 BT 39T FF -8<x<6 -F AT F7 |
(A) [x*+1]>7, (B) [x-1|<7, (C) [x+1|<7, (D) cFIeABIR 7 |

o). y=x3-3x2-1 37 @4 (1, —B)ﬁTWﬁS—WWT?
(A)-6,(B)-3,(C)2, (D)0

00, 98 G t T St+ Yat2 B vy o I | 2 OTFS 7 GAivd
(F5/cTFe) T5 =@ (A) 15, (B) 7, (C) 12, (D) 10

08, y=X2-xy I @41 (1, ¥) Rego i3 o 3707
(A) %, (B) 1, (C) 3/4, (D) %

o¢. y=Cos x + Sin x T, y2=7
(A) Cos x - Sin x, (B) Cox 2x, (C) Sin 2x, (D) -{Cos x + Sin x)

oY, y=er+e a3 wefiE ~rfeT e fAda 39
(A)y=2,(B) x=2, (C) y=1, (D) y=-3
04, Sin X -93 JAIeF Sin 2X -93 9T X

(A) 2 Cos x, (B) 2Sin x, (C) 2 Tan x, (D) 2 Cos 2x
e



ob-, px+qy+c=0 7, dy/dx -3 A7 FG?
(A)p. (B)0, (C)-q. (D)-pla

0. y=Cos x 4 z=S8in x T, dy/dx Fo?
(A) Tan x, (B) Cos x, (C) Sec x, (D) -Tan x

80. x=al2 @ y=2at 7, dyldx o2 (A) 14, (B)t, (C) 2t, (D) ©

8. pX2+qx+1=0 ¢ qx2+px+1=0 TRAIRER G T Tt oA 6
(A) p+q+1=0, (B) q+1-p=0, (C) p-q-1=0, (D) 1-p-g=0
83, -8-6V-1-a3 IFF Fo =@ (A) 3+, (B) 3+, (C) +(1+3i), (D) +(1-3i)
8o, qwasmﬁasﬂﬂm 3T it foor e

(A) 3w, (B (C) e, (D) 3cfa

88. 6 ﬁaﬁs@fﬁm g 4 @35 Bwot R Prafices amod $o2
(A) 72 77 933, (B) 48 99 133, (C) 144 79 95, (D) 24 T7 933

8¢. tan oc= —\3 T, oc=2 (A) 609, (B) —60°, (C) 120°, (D) —1200

8u, PR 21-93 fifss $o°
(A) 11011, (B) 10110, (C) 11000, (D) 10101

8. X-9F @I FIAT T SINX=COSX TX?
(A) 309, (B) 609, (C) 459, (D) 90°

8-, S=8+6t-13 3=, 1 sec @ @t (R/A1.) 9 @2
(A)3,(B)-3,(C) 5, (D) -5

85. Degree *fb3 e 3 ey FoeiE S T
(A)5,(B)6,(C)7,(D)8

¢o. X2+y2=20 3039 25 e o =i gARS $o7
(A) (24), (B) (24), (C) (2.24), (D) (2.£2)

st

5. 3.27Tm Tw50! 300 93 A AT R T @0 RO FE?
(A) 6 ms, (B) 7 ms*, (C) 8 ms, (D) 9 ms*

¢R. 9310 &0 A @7 AT 9o IS 2
(A) *fRe= oo, (B) e e, (C) WRe wwwe forel, (D) e
SIRCR fAorot

¢ 0. I AR NE F II70 W2
(A) o3 AGIcs, (B) o3 23egieed, (C) O e, (D) oeet s |

¢8. PO e T e R Tertte A A B
(A) Transformer, (B) Electric Motor, (C) Dynamo, (D) Generator

¢¢. g /I S @1 Fo?
(A) 11.2kms, (B) 112 kms, (C) 1.12 kms-, (D) 121 kms*,

06, CTEFT @TFT TIT F0?
(A) %2 cyclels, (B) 1 cyclefs, (C) 2 cycles, (D) 4 cycle/s

¢a. @ (Poise) o™ us?
A) 9[5?1?1, (B) V[t ﬁﬁ?, (C) =irgot, (D) AR

¢b-. I TS (I @I o0 IS FR?
(A) sz, (B) ¥, (C) IR 511, (D) Aot 3

&>, 1 kg /T 100 TO3F O AR <

(A) 3.3kJ, (B) 33.6 kJ, (C) 336 kJ, (D) 3360 kJ

vo. YRR (I (S0 4T “AfAwt oW @2

(A) o, (B) ¥, (C) e, (D) gt

by, XF TRGA (It CIFRIT) T I, SRS >

(A) o5 o=, (B) #If¥ o3, (C) Tifer<s o3, (D) Herei ot

)zaﬁm—rvmmq%mwwmﬁﬁmv
(A) 0.60 ms™, (B) 0.62 ms, (C) 0.61 ms, (D) 0.63 ms*!

w0, e &31teg T Sevitfere ot (H):

(A) R, (B) IRt, (C) IR%, (D) IRt2

©8. 5 (T A F0?

(A) 1 Wb-m, (B) 1 NWb-, (C) 1 Wb-m2, (D) 1 Wb-m2

Ye. (@ TP IRF T3 o SRGE G
(A) 999-w, (B) wRefXs, (C) wfoed, (D) pram

Yy QBT MMETo e e @E & [ I3[ I H?
) wRoe Wi, (B) sToet i, (C) Beet wi, (D) (PICADR 7a

v4. 67 57T 1.5 T PiIF TWATF @ EF @ 62
(A) 3.0x105 km/s, (B) 2.25x105 kmis, (C) 2.0x105 km/s, (D) 1.39x105 km/s

ubr. RADAR-¢ @HAfG 3930 =
(A) Ultra-violet ray, (B) Gamma ray, (C) Infra-red ray, (D) Micro-wave

v, RERFaICR T1¢ ARG @I Hres?
(A) 100 m, (B) 102 m, (C) 105 m, (D) 107 m,

qo, =i TS RFo stre 5 it s frfo =30
(A) 170 MeV, (B) 250 MeV, (C) 200 eV, (D) 200 MeV

Ay, 7B (OB ST ¢ T A IR 7F T (S8 75T ! et
() 00, (B) 90°, (C)120°, (D) 60°

Q3. 93fo 77 TR FF @fFF @ (radls) Fo?
(A) 1.89x104, (B) 2.8x1038, (C) 1.45x104, (D) 2.5x10°%

0. I 8 S FLIV! I 50° A, FO IS T
(A) ~Tdtes, (B) i, (C) fw, (D) ceieaioR 7

Q9. ﬂf—%wmﬁmmﬁf‘—ﬁﬁsm
(A) faed, (B )wrvﬁ"*f ( )Eﬁm (D) Wiz

q¢. T FON FREY SO 'g'-9F AR Sref 11 772
(A) 30°, (B) 459, (C) 602, (D) 90°

qu, 4 WA IR G-CH AT I 4T EIFA-31 .
(A) =, (B) &, (C) X, (D) IR 7

4. q9fb TR &FIRT FIC0 FO IS -
(A) W= % FI, (B) W=FI, (C) W=2FI, (D) W= % FI2

3/e



b, PIFAZE W (@I ORI CIFEET CRER Ao Red?
(A) 3200, (B) 1200, (C) 1609, (D) 2400

Q5. I3 I TGE T @ 3 THAAR JET T 2
(A) VecT, (B) VocPIT, (C) VaeNT, (D) Vocl/T

bro. TR witcld 2luid o Wity S 0 R @it ool @2
(A) 00, (B) 902, (C) 1800, (D) 45°

b, 93T 937 6 T 161 | 2T efesmrs 1.33 | TR SIS 180! T07
(A)4.15 t, (B) 4.10 ft, (C) 4.25 ft, (D) 4.51 ft

/s, ST B (T PR T 0
(A) 1 mm, (8) 2.cm, (C).25 cm, (D) 50 cm

bO. SR G370 TIF T FAHGTAR g 7ot A1
(A) 00, (B) 90°, (C) 459, (D) 1800

v-8. IOICT ST o3 oy 4800A | $159 elfSoTrz 3/2 T AR T O
(A) 5952 A, (B) 5600 A, (C) 3200 A, (D) 5890 A

. ST 1A O T Ofes ot ST e
(A) o oy, (B) 71 vy, (C) Frrom oy, (D) ofee 7R oy

by, 3 (TEET T G Y > ITH A 9T FY @
(A) 0.693yr, (B) 0.5 yr, (C) 0.8 yr, (D) 1yr

b-q. (& S AR fACGER R T OO o e
(A) =iReian, (B) W@ﬂ, (C) wizeiRR, (D) WRETIH

. Qg Mt AR @RI g <56
(AT, (B) WF W, (C) 9 =, (D)gqf*fzarl

5. 930 I7 5 G 20 TF Fie F00 1 | 467 Fao! $o?
(A) 4 RE57/R5w, (B) 4 REba/miws, (C) 4 635, (D) 4 S/ |

¥6. SROE @R TR e @Al
(A) 1GR3, (B) e &, (C) F3fos aibs, (p) {711 318 |

%Y. W S @l 7y T ARvio e [EE 0
(A) oo @, (B) Bwe 7, (C) e, (D) $b4e

33. 48.0 ms! Grt G TF WISt SIEH i FATT™t T 0 9o B6?
(A) >30 B8R, (B) xd0 B, (€) dda.¢¢ fEH, (D) 505.3¢ AbH

50, AT @F 6 X7 TICH @ SR 772
(A) etftrer, (B) fsmd, (C) wragd, (D) Iosi

8. TE IFE QEE e
(A) Coherent, (B) Very intense, (C) Monochromatic, (D) All of these

»¢. D TEoR? (A) 2EREA, (B) @b, (C) «bd, (D) s |

_wo. o AR TE@E
(A) SifDR, (B) cersfi, (C) Freffiow, (D) iR

»q, ;ﬁmmﬁmﬂw @A it
(K) 4TI, (B) Serori=i, (C) i, (D) Faoria

o i R fies v R este?
(A) ¥, (B) o3 &, (C) o o7, (D) afoswrs

4 36 5ifé it 133100 Res: (Ao sRew G, (B)sia Skew
@, (C)ceom B &, (D) *{8d Ha ST

Yoo, Bfbe Redae aiftrr I3 eamt & @Al
(A) ITEFGIRT, (B) IETG-T31oitB, (C) ITE=@i-61RF, (D) 4ig ofied

ENGLISH

101. “Lack of’ means:
(A) plenty, (B) adequate, (C) exhausted, (D) scarcity

102. He was pardoned his age.
(A) in lieu of, (B) in view of, (C) for the sake, (D) due to

103. Let's go for a picnic, ?
(A) don't we, (B) will we, (C) shall we, (D) can't we

104. “Toil & moil” means:
(A) Hardship, (B) Patience, (C) sufferings, (D) happiness.

105. Which one is the correct spelling?
(A) Deteriorate, (B) Deteorate, (C) Detiriorate, (D) Detreorate

106. What is antonym of pleasant?
(A) Angry, (B) Inpleasant, (C) Unpleasant, (D) Displeasant.

107. Many years have passed since | my friend.
(A) had met, (B) have met, (C) meet (D) met.

108. Which one is in sungular number?
(A) Criyteria, (B) Data, (C) Agenda, (D) Index

109. The most important period of physical growth in humans
during their first few years.
(A) occur, (B) occurs, (C) occured, (D) has occured.

110. Everybody should their old parents.
(A) look at, (B) look after, (C) take care, (D) love at.

111. “Maiden voyage" means:
(A) Early voyage, (B) First voyage, (C) Final voyage, (D) Late voyage.

112. The word “obligation” is:
(A) Noun, (B) Pronoun, (C) Verb, (D) Adjective.

113. Which one completes the sentence properly? The ship
(A) was sunk, (B) was sank, (C) sunk, (D) sank.

114. He was only a yard me.
(A) ahead, (B) of, (C) off, (D) distant.

115. He that he might have a glass of water.
(A) ordered, (B) requested, (C) wished, (D) told.

116. Divide the money the two persons.
(A) among, (B) between, (C) within, (D) in between.

117. What is the correct spelling?
(A) Honorarium, (B) Honourarium, (C) Honorium, (D) Honouriam

118. The word ‘Lunar’ is related to:
(A) Sun, (B) Moon, (C) Light, (D) earth.

119. Which one is abstract noun? (A) long, (B) height, (C) man, (D) jury.
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120. What is the correct spelling?
(A) Comittee, (B) Committee, (C) Commitee, (D) Committe.

121. Forty miles a long distance.
(A)is, (B) am, (C) are, (D) were.

122. Every flower and every fruit the gift of God.
(A) are, (B) was, (C) is, (D) were.

123. What is verb of “Activity"?
(A) Activity, (B) Activate, (C) Active, (D) Actively.

124. What is the synonym of “welfare”?
(A) Well, (B) Unwell, (C) Well-being, (D) By-by.

125. Origami is a craft to paper for giving different shapes.
(A) fold, (B) folding, (C) unfold, (D) unfolding.

126. Introvert means .

(A) ==, (B) i, (C) o, (D) 3

127. | wish | a poet.
(A) was, (B) is, (C) am, (D) were.

128. What is the superlative of ‘Little'?
(A) Less, (B) Lesser, (C) Least, (D) Lessen.

129. You should done it.
(A) had, (B) has, (C) have, (D) be.

130. ‘Wear and Tear' means

(A) TR, (B) A G, (C) s, (D) coTed &

131. He is tall nor fat.
(A) either, (B) neither, (C) further, (D) after.

132. What is the adjective of “Love™?
(A) Love, (B) Lovely, (C) Lovingly, (D) Loves.

133. Freedom is ____eternal desire of man. (A) a, (B) an, (C) the, (D) to.

134. Where have you come this money.
(A) to, (B) round, (C) of, (D) by.

135. Choose the synonym of the verbal noun idiom ‘Dropout of.
(A) solve, (B) write, (C) leave, (D) withdraw from.

136. Choose the antonym of the verbal noun idiom ‘carry out’.
(A) disobey, (B) disagree, (C) disorder, (D) refuse.

137. What kind of parts of speech is ‘friendly'?
(A) Adjective, (B) Adverb, (C) preposition, (D) noun.

138. Quinine cures a man malaria.

(A) of, (B) from, (C) up, (D) over.

139. Choose the correct feminine gender of the word ‘drone’.
(A) dove, (B) duck, (C) bee, (D) doe.

140. Find the correct verb of the noun “Reality”.
(A) Realize, (B) Realistic, (C) Really, (D) Real.

141. Choose the appropriate word to fill in the blank. My father is confined
it. (A) for (B) on, (C) with (D) to.

142. Would you mind simply a cup of tea?
(A) to take, (B) for taking, (C) for having taken, (D) taking.

143. The man was for murder. =
(A) hanging, (B) hung, (C) hanged, (D) hang.

144. | will go out if it 4
(A) had rained, (B) is raining, (C) rains, (D) will be raining.

145. Choose the correct one.
(A) Mispel, (B) Mispell, (C) Misspell, (D) Misspel.

146. Which one is reflexive noun?
(A) He, (B) Myself, (C) Each, (D) Who.

147. Author of Ulysses is ;
(A) Lord Tennyson, (B) John Milton, (C) W. Wordsworth, (D) J. Keats.

148. The synonym of genesis is :
(A) Abstract, (B) Beginning, (C) Preface, (D) Foreword.

149. N.B. means .
(A) Note before, (B) Note by, (C) Nota bene, (D) Note best.

150. Correct spelling:
(A) Etiquette, (B) Atiquet, (C) Etequette, (D) Etequete.

Ay S&iq

s¢>. {9 fiwon g7 b2
(A) o=, (B) ©rw, (C) @ 3, (D) s |

SR, QICE TG A e
(A) ¥, (B) ft, (C) i, (D) &t 1

5¢0. (AT YT @1 *RF TFO?
(A) RS, (B) e, (C) waife, (D) Frifrcetfaar |

5¢8. IRATCH 2y e Foom i
(A) o1, (B) ¥, (C) 7R, (D) &rfess =iyt

see. FIER 7 Tt @HAGe
(A) w11 +14s, (B) TR =i, (C) Poaior, (D) fRarer |

SV, TI@ T @A @R AR” e IR 43 FRE?
(A) coTet, (B) *teatfs, (C) Far, (D) 58 |

¢4, IRFACCH il wifo-s1gt @IAfe?
(A) =, (B) 1, (C) =1, (D) afi¥s |

seb, AR s & AfG?
(A) T3, (B) @A, (C) A1, (D) <wwcat |

e, IR ﬂm 3G i @A
(A) et T, (B) v¢1 &, (C) >at s, (D) St @ o

Svo. FoQNIGR 0/ Fal GRIT?
(A) ZfRer, (B) v, (C) grvifs, (D) bt |

SV, HETm IR FRE?
(A) GTARt, (B) =, (C) cemaifast, (D) T e |

8/¢



U}, TE T-7 Tewt Fe
(A) o7 =R, (B) T, (C) oot AR, (D) oic® 7 |

S0, TLAT &7 T &2
(A) =uf3s5o, (B) wrtem P, (C) wieraiei, (D) @S 1 |

SY8. @I COT STH-I7T (A2
(A) G, (B) =¥, (C) Bz, (D) iea® =

e, 35 fHRFE 2l ¢oo BT & A6 FEA?
(A) e e, (B) ewed, (C) oA e, (D) ReR <

SYY, IR FYA T STA-TG SHI01 e F@?
(A) 584, (B) vat-q, (C) daw5, (D) 2000 |

>vAa. IR (T GFIEE F 7T TS T2
(A) 550, (B) 354y, (C) d5uR, (D) dst-q |

b, ST I T (Pt (555 TR Art?  (A) SRO-sHer,
(B) webfemI-2xeis, (C) Zere-fAeRems, (D) i ax

>, Refs @ 77 Rgedics RIR ofoam @Em?
(A) wfagg, (B) ==t (C) Avetam, (D) Sraireiy

%0, (FIF (P ISR o7l et _F» (A) ¢t (B) I, (C) &3, (D) fofer

59). AR T “oFR RwiZar &2
(A) ©o1Fdi= 337, (B) 1 3, (C) =M 3=, (D) =iedw <

593, IRATR AN T (FIAD FGE AP wfdaw sEm?
(A) 397, (B) =1, (C) s, (D) Tt |

vq0, ‘Brex’ ew o e

(A) &M, (B) 37, (C) s, (D) 3¢ 1

598, WSS ARt T Fiafe?
(A) o v, (B) ¢ 4f¥, (C) ¢ T, (D) v Rem3 |

sac¢. AR At @I BiE?
(A) it xR, (B) fwxe, (C) @R, (D) sttt |

9V, RET $0 offfed Regw R Frao s =2
(A) > G673, (B) 0 G679, (C) 20 A, (D) > iR |

594, IRACCR G719 2 [T Tt @A
(A) TR, (B) A, (C) 75 At (D) fAgrr et 1

Sab. G SRE 1T FFINE S (oF Agent Fst = et e
(A) UNICEF, (B) UNESCO, (C) ILO, (D) UNIFEM.

sas. ‘effr (Volley) it @R ({1 IIIT 2F?
(A) f&x=B, (B) 7, (C) &1 &6f, (D) ©feiet |

stro. RogT TR WIRGIS SRy GIF ¢t
(A) 3T, (B) 3918, (C) @, (D) et |

Sb>. BiRBIAF TRl 36 T TF Fw?
(A) 5350, (B) 5553, (C) 333, (D) d»58

SR, IR S FRANIGET T T A7 oR_FT?
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